VIZSGA 2023.06.20, MEGOLDASOK
1. feladat (Jp)
2768 T =224  ¥=490° ¥4, wnP=0
® @

e é c S o
bt ( Cm(jO)“*(/S’WL(ﬂo ))@

Z =6 (el Tesn(307) -

- 37 (COO( 30"‘3%560°> +<'m[ﬁ00245é00/ l-04,2

26 (con30) t 5wBF)= 9@ 6+ g

2 A

Cp)) 2,0 MT(con (45G) t (450 = 406 + < %
o e

'Z:s: 3(6_’ (cm (,U-OG\ Jr{m(,&?ocm = -6 ¢



2. feladat (5, )

a=(0,-1,2)
:6_’7(2)4153
E_‘:(‘Z,é,/l)
= —(4)| £ 3
R
Ve -




3. feladat (300)

X T 13y = 5
”(7(+(E}’ - A0

A0 43 |5 | 2722
2 Lo~ |0 | 7~

Sx taytztle= O 32 4 2| 0/ 23752
10 13 |5 QJ_ZQZ 10 /3 |S
o 1A o) I OysR-7|0
O < RS, 002 7|45 @
(ama(ﬁ/f*)é =4 06 5FH o Ao
Azt 4y =-4§ => 2= -4 7 & 4
U > = Z/ag e /{
g2z -Fu=0O = U= Ret Poe= NS-Tyd Fr= —15

X7"£‘f\§%= S :>X=5—2—3(A, =§T/’(§-Tz‘(’\—30\=

2§ +4
2 2 2 <



4. feladat (%) ]

//x/gljz)(.g?’_ﬁa(z— f;(”/3)=6?*(q.x
4 4 2
Fora'=x e+

P(41,1) 4 4%
g/m_of;(?) = (6 '4,/9 j se'+ {_Aj;‘) = {6*@,‘@)

Exptcon'l © &= (c/Ao)-(»AH(@—S‘)(%—A}nL g-S

2 :(@«40) X +(6-§)00L — €440



5. feladat /4+§,o)
w, ]2 fon'hlv fob%\l ) %%m'krvzm @/Cﬁckib
3 7o
] Lv\' _ 6% 7 - ,Z, >/{ O(AWV?/ZMD
- 0 "3 -200 Y :
" 1 (C))A@ @

G i - aborollt sova 7, A

- 2
= l/\(bH/f) ht bt @
00
A S B s
— @ v ! vz
S b{:( pos OM/UW?A’VMJD /M/chj 2up

hilron ; @

o' A an ecolh Sov  absitnt Eauc .

@




6. feladat /4 )

4 A Jeggucay %20 Lonlle
£ 4”[;%) ’/——cygm —dovr_

2

86
el A = xS Ix/L4- v ecedt-

- LY X" a /.X,/z ( arar |x|l2

&

A W%&tmmgayl‘ ,Z .



